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SECT jON—TI
@ue—I

rs responsible for the
dian National Congress.
h policies towards early

1. Discuss the facto

formation of the In
What were the Brits

nationalists?

mmmﬁmﬁmmmm
S Sty e Tgaedt % wfa fafew At @
91 FIC|

Trace the course of expansion of Western
and technical education in Bihar between

1857-1947.
1857-1947 & Wy fegR # yrvaT U@ dahien! &
¥ e % W o B

3. ) Critically analyze the factors responsible for
thc. €émergence of Gandhiji as an eminent
nationalist leader, 38

@'ﬂﬁﬁmmmﬁamﬂm%m%m
ERLEA D MWWWWl

38

N)

38
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. hief chnmctcristics of Mauryan »

5. -Pescribe the €
N

,1-’;,'// art.

e wen H v

6. Write short notes on any two of the
| 19x2=38

following :
fa) Santhal Uprising
(p) Champaran Satyagraha

(c) Rabindranath Tagore’s Contribution to
the Freedom Movement

et # @ R o woam feoafrt fafee
Y o fde
/{)WW

(1) EY IR F EEEd ReE § aeE

SECTION—II
Qus—II

i
@ Discuss the origin, membership, develo
’ p"

ment and objectives of ‘QUAD’
significance for India? g pe e

49/FG/CC/M-2022-02/10 A
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ﬂ ‘Agnipath’ is a path towards development or

(5

11.

49/FG/CC/M-2022-02/ 195,

destruction? Comment.

gy’ frrg st R B otk gg @7 oo
Hife)

Discuss the concept of ‘One Nation One
Election’ in Indian context and give your

arguments for and against it.

yidE g ¥, ‘TF g o fAated A SEuRon #
quiT IR a3 va o fame § o weh AR

What is the root cause of war between Russia
and Ukraine? Discuss its impact upon the
nations of the world with special reference to

India.
mmq@ﬂ%wg@mq@mwé?m%
mmﬁﬁﬁw%uﬁmmwﬁmaﬂh
e |

It is generally alleged that ruling party
misuses the Constitutional Institutions for
its vested interests, Do you agree with thi

s

view? Give arguments j r
n
e Support of you

38

38

38

38
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SECTION—III
@us—III
( Statistical Analysis, Graphs and Diagrams )
( witeah favew, arEA iR fermon )

12. Study the following table carefully and
answer the questions given below :

49/FG/CC/ M-2022-02/105A

Percentage marks obtained by seven students
in six different subjects
Subject
A B C D E F
(Out of | (Out of | (Outof | (Outof | (Outof | (Outof
75) 150) | 100) 50) 150) 75)
P 85 68 76 92 go | 82
0 78 72 84 80 64 70
R 66 75 79 88 72 66
S T4 62 91 74 70 74
T 90 75 67 68 69 78
v 86 80 69 78 82 80
W 82 68 81 85 76 79
(a) Find t..hc total percentage marks secured
by R in all the six subjects together
(b) Find the difference between the mark
S

obtained by P in the subjects B, D and E

together and the marks obtaj
tai i
the same subjects, ned by T'in

( Turn over )
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(c) Find the average marks obtained by all

the students in the subject B.

Find the average percent of .marks
obtained by all the students 1N the

subjects C and D together.
What is the total marks obtained by all

the students in subject F?
6+10+6+10+4=36

ﬁmmwmﬁ%awﬁﬁrqaﬂtﬁﬁqm
mﬁl%ma"rﬁq

(d)

(e)

T o1 g1 &: 1 fal 4 919 37t &1 Jiavrd
fagq
a| A B c D E F
(75%@) |(150%®)|(100%®)| (507 &) [(150%®)| (755 ])
P 85 68 76 92 89 82
10, 78 72 84 80 64 70
R 66 75 79 88 72 66
S 74 62 91 74 70 74
T| 90 75 67 68 69 78
v| 86 80 69 78 82 80
_W 82 68 81 85 76 72

() R7w ym h 5 Al & w-wy Fa s
ufewa yra it

(@) v B, D3 & w-wmu p g ww s

M e . .
Hiftr U T g wm s @ I g

( Continued )
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13. Study the following pie-charts carefully and

answer the questions given below :
Market share in 2013-2014

Sales of toasters

2010-2011
(200000)

2013-2014
(350000)

(250000)

2012-2013
(300000)

Videocon

(a) Assuming that Videocon has
maintained its market share at the
same level from 2010-2011, what is the
total number of toasters sold by
Videocon in these four years?

(b)) If in 2012-2013 the market share of
BPL was 7%, then what is the change i
the number of toasters sold by BPL f_’m;
2012-2013 to 2013-20147?

, over )

49/FG/CC/M-2022-02/105A ¢ Tur

e
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(c) If Maharaja is one of the companies
included in ‘others’ and its sale
constitutes 40% of ‘others’, then how
many toasters of Maharaja were sold in
2013-20147?

(d) Assuming that the number of toasters
sold increases at the same rate in
2014-2015 as it did from 2012-2013 to
2013-2014, and assuming further that
TVS maintains its market share, what
will be the number of units sold by TVS
in 201420157

(e) If in 2013-2014 IFB sold 7000 more
units and effected the market share of
other companies, then what would be
its market share (in %)? 4+8+6+8+10=36

= Ry T gwiE @ emgEE e Fif o fi
Wﬂ:ﬁeﬁ'ﬁt'cﬂﬁﬂ'{ :
2T F gkt 2013-2014 T 19K 7 feedeRT

2010-2011
(200000)

2013-2014
(350000)

ONIDA

396"
‘u-‘n 36
= )
180°

Videocon

2011-2012
(250000)

2012-2013
(300000)

49/FG/CC/M"2022‘02/ 105A ( Continued )
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@) a 7 ¢ 6 difSlsE 3 2010-2011 @
ol TR REd W W W Y W o,
SRAFHA T H AN WE A 4 M R Al
Fo W& I 87

(@) 3R 2012-2013 % BPL H 9= e 7%
ff, @ 2012-2013 ¥ 2013-2014 7% BPL
T 4= TR aret A H e § fhan giEdq
Bl &7

(M 3R ‘o=’ § mita FEtEl § ¥ ‘meren’ f @
2 3 et ot o’ &1 40% T =t 2,
@ 20132014 # ‘TR & fHar dw =
me?

(@) @& AFd | & W m A= K wen
20142015 ¥ T @ A w5 ¥ N wh
2012-2013 ¥ 2013-2014 @& H o, aix
ag A 7e fl 7 g TVS Y amft sen
feeerll o w@lhl R, @ 2014-2015 # TVS
2 ad T T R wem |0 am?

(z) af 2013-2014 # IFB A 7000 ) ozl
yafea T, @ e amin fray (% )
am?

49/FG/CC/M-2022-02/105A ( Turn OVT )
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efully and
14. Study the following graph car

answer the questions given below .-

d actual production of bolts (In
in a factory

—eo— Target production

’000)
Target an

- . 284 295
30 - Actual prodllcnon !l\
280 1 !

120 125

T I L

200506 2006-07

T

100 L T 1] I 1 L T
2001-02 2002-03 200304 2004-05

Years

(@) What is the percentage change in the

targeted production from 2004-2005 to
2005-2006?

(b) In which period was the percentage of

actual production with respect to target
production the highest?

(c) }Nhat is the ratio of the n

the numpe,
of years in whj
Productiop, was which the actual

below
actual productjgp- the average

49/FG/CC/M-2022-02/105A ( Contin
ONntinyeq )
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of the sum of targeted
the years 2002-2003,

2006-2007 to the sum
of the actual production for these years.

Find the difference between targetec.l_\

production and actual production for
2-2003 and 2005-2006

the years 200
6+8+8+8+6=36

taken together.

ﬁﬂmﬂw@mﬁﬁqaﬂtﬂ%ﬁqm_
Dﬁ%ﬂ?ﬂﬁﬂ: |

fireft @ 7 dlee # 8 3fR arafa®
379 (’000 #)
—o— &I I
300 --m- CISICEARIES
280 A .
260 -
7 240- 2z
8 220-! g
© 200 ‘&
& 180 - -
160
14°'x 144
120 125
100 4+— T T T T T T
2001-02 2002-03 2003-04 2004-05 20023_0.5' 2006.07'
af
(%) 2004-2005 & 2005-2006
fran uftera afEda gan {7 e S
49/FG/CC/M-2022-02/105A ( Turn Over )
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(@) @& ITed & Gayg 3 Irfad IcTed Tl

15. The following bar
Income and National I
the given years. Refer to the
answer the questions that fo

foa e & et 00 °0

T i wen, Ml awdies Sded Siwd
AwF I ¥ A an, AR I F§] H
e, fn ardfas S sfma Sy
IAA | A o, T AU H_T Y

T 2002-2003,  2005-2006 M

2006-2007 % fou wfta 3w & A =5
A F T F GrelNF IqeT ¥ T |
Trafem

a9 2002-2003 3f 2005-2006 =l fireme
<l I SR Sty I & §9 H e
e

graphs show the Per Capita
ncome of a country for

bar graphs to
llow -
Per Capita Income (in )

4933

1630
238 328 674
" 1057

1961 1971

e,

——
1981 1991
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National Income (in & 00 crore)

4726
1224
o0 152 37
— . 1 A i .
1951 1961 1971 1981 1991

Years

(a)

What is the growth percentage in Per
Capita Income’ from 1951 to 1991?

(b) What is the annual growth rate of Per
Capita Income’ from 1961 to 1971

(assuming that the growth was uniform
throughout)?

(c) Find the country’s population during
1981.

(d) What was the growth rate in population
during the decade 1981-1991?

(¢) By how much percent the WNational
Income’ grew from 1951 to 19917

6+8+8+8+6=36

49/FG/CC/M-2022-02/105A ( Turn over )
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IR T
g e e % fore e g < i = o S
s i 42 om g wuté T ¥ <e el # ded

3 g Ry T e % A
gfa fer 379 (€ 1)
4933
i
1630
- g 674
%__'38: [ . 4 + —
1951 1961 1971 1981 199]
L
TEH 377 (€ '00 g )
4726
1224
o0 15y 397
| —
19511961 1971 " ogs 1991
'ﬂﬁﬂm %? b 'ﬂﬁ’la]ﬁﬁa‘ﬂ'q'ﬂg%

49/FG/CC/M-2022_02, 1058
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) 1961 ¥ 1971 @ gy =afe ow # A
W%maﬂ)?

() 1931%?‘;[““_(‘27@;1:{@@“3[13%@
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